Cuaprter 11

Instructions for SECTION 1

EXAM PAPER 1

Time for this section is 15 minutes

This part consists of 10 questions each worth 1 mark
Calculators are NOT to be used in this section

Fill in only ONE CIRCLE for each question

SECTION 1

1 04x0.12= Marke
@& 0.0048 0.048 © 048 D 48 1
2 If x=3-2t* and t =3 then x is equal to
@ -526 33 © -15 9 1
3 In the diagram length x is equal to , 7
® P+ X Ja+b © W D) None of these !
4 The mode of the set of scores 3,2,6,1,2,7,9,2,61s
@ 2 9 © 3 42 1
5 The reciprocal of 573 is
10 3 ,
® -3 = © 3 ® 3 Al
6 The gradient of the interval joining the points (2, 4) and (-1, 6) is
® -3 : © 2 ® -2 il
7 1£516 831 is rounded off to the nearest thousand, the number is -
@ 516800 520000 © 517000 @ 500000 1
8 24°x34°= -
@ 50° 54° © 64° 6a° _1_
3
9 Find the value of 92. -
® 6 18 © 30 ® 27 1
10 125km= -
@® 125m 12500mm  © 1250m ® 12500m 1
End of Section 1
Total marks achieved for SECTION 1 Q
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Cuarter 11

'EXAM PAPER 1 SECTIN 2 — PART

Instructions for SECTION 2 (PART A)

This part consists of 25 questions each worth 1 mark
Calculators may be used

Time for this section is 25 minutes

Only provide your final answer in the space provided

Questions
11 Write —+ decimal
rite 75+ 7550 @5 @ decimal.
3 .
12 Convert g toa decimal.
2

13 Convert 7 toapercentage.
14 Evaluate 7 +9 x 3.
15 Evaluate 2 2.4 .

5 15
16 How many secondsin 2% minutes?
17 Write 0.000406 in scientific notation.
18 Simplify 34— 2ab + 5ab + 6a.
19  Factorise 6a°b—3ab.
20 Solve 18-2x=7.
21 2" =64, what is the value of x?
22 Solve11-5x>0.
23 What is the simple interest on $250 at 12% p.a. for 3 years?
24 Whatis the length of the side of a square that has an area of 64 m”
25

Simplify /5 —2+/3 -5+3.

Answers Ma

Continued on next page
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Cuarter 11

EXAM PAPER 1 SECTION 2 — PART A (continued)

Questions Answers Marks
26 What is the value of x? 335 1
142° R
27 What is the value of x? 1
95°
1309 x°

28 A boat is bought for $840 and sold for $910.

What is the profit? 1

29 Expand \/E(\/g_\/'j) 1
e da_a —
30 Simplify TR _1_-
31  What s the median of 11, 12, 10, 11, 12, 122 ED
32 Make x the subject: y =2x + 8. 1
33 What is the gradient of the line y + %x =37 R
34 Write 27" with a positive index. 1
2 2 _

35 Simplify X 1
m -

End of Part A — Go on to Part B
Total marks achieved for SECTION 2 — PART A o1 :
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CHarrer 11

'EXAM PAPER 1

Instructions for SECTION 2 (PART B)

SECTION 2 — PART

This part consists of 3 questions each worth 5 marks
Calculators may be used

Time for this section is 20 minutes

Show all neccesary working

Marks may be deducted for untidy or badly arranged work

Questions

36 a A given straight line has the equation 2x + 3y = 14.
What is the y-value of the point on this line which
has an x value of 4?

b  Expand and simplify 54-2(32-6).

¢ Calculate the area of a rectangle with length 520 cm and
width 300 cm. Give your answer in m?2.

1
d Simplify 43 .

e Solve %—7=a,

37 a Solve algebraically the following pair of simultaneous

equations: 3x—y=8§
x-y=6

Answers

Mar

E

Continued on next page
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Crarier 11

EXAM PAPER 1 SECTION 2 — PART B (continued)

Questions Answers Marke
b  Make P the subject of 3y = % 3
¢ Graph the solution to the following inequality on
1
a number line: 2 —23x >-8.
. 1
d IfT= M(ALMZ + 3) determine the value of T if M = 10.
e Find the general form of the equation of the straight line 1
passing through the points (1, 3) and (2, 5).
38 a A shirtis marked at $98.80. What would you pay if a 1
27 2% discount was allowed? ‘
b Calculate the tax payable on $14 200 if $870 is payable on 2
the first $11 000 and 30 cents for each dollar over $11 000.
¢ Acaris sold for $38 000. If this represented a profit of 20% 2
on the cost price, what was the cost price?
End of Exam
Total marks achieved for SECTION 2 — PART B /4 |
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ANnswers

- é
Pace96 1 B 2C3 C 4 As_ys A7 C8 C9 D1C
Pacge 97 11 0.102 12 0375 13 40% 14 34 15 9 16 140seconds 17 4.06%10~* 18 9a+3ab 19 3ab(2a-1) 20 x=55 21 .

2 x<2-§- 23 $90 24 8m 25 V5-743
\fﬁ >7a F 8 -2 )
Pace 98 26 289° 27 35° 28 $70 29 547 -6 30 & 31 115 32 x=1—2— 3 o 4 r 3 3mn®

1
PAGE 99 36 a y=2 b —a+12 ¢ 156m> d a4 e a=—17% 37 a x=1,y=-5
Pace 100 37 b P=947§ c x<6 *":*(;::g"* d T=403 e 2x—y+1=0 38 a $71.63 b $1830 ¢ $31666.67
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